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This stage is called as Exploratory stage
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3.
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Pre childhood
Late childhood
Infancy
Adolescence
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Intrinsic motivation among the following
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Praise

Self Satisfaction
Punishment
Reward
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Operation that takes place in the interactive phase
1. T.L.M preparation

2. Formulating objectives
3. Evaluation
4, Subject explanation
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The ability that is tested through Essay questions

1. Relearning

2. Recall

3. Recognition
4. Recapitulation
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Language development starts with cooings, babblings and
gradually leads to conversations as per the principle

1.
2.
3.
4.

Principle of Individual differences
Principle of continuing

Principle of uniformity of pattern
Principle of integration
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The highest level objective of Cognitive domain

1.
2.
3.
4.

Knowledge
Application
Analysis
Evaluation
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Teacher acts as a facilitator in

1. Learner Centered Paradigm
2. Teacher Centered Paradigm
3. Subject Centered Paradigm
4. Classroom Centered paradigm
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Concepts cannot be acquired through

1. Memorization

2. Innovation

3. Examples

4. Similarities & differences
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10.

Teacher is explaining about Vegetables by showing them. The
thinking of children at this situation is

1. Imitative thinking

N

Concrete thinking
3. Logical thinking
4. Abstract thinking
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Stimulus acts as a reinforcer in this theory
1. Classical Conditioning

N

Trial and Error learning
3. Operant Conditioning
4. Social Learning
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11.

12.

Guidance which is given when a student is not able to focus on

his studies

1. Personal guidance

2. Educational guidance

3. Vocational guidance

4, Transformational guidance
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Find out the wrong statement

1.
2.

4.

Physical Development is very rapid at Infancy

Development of intelligence comes under Moral
development

Emotional development depends on learning &
Maturation

3 — 4 years children participate in Social play
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14,

Interpersonal Intelligence is possessed by

1.
2.
3.
4.

Scientists & Engineers
Biologists & Athletes
Philosophers & Artists
Psychologists & Politicians
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Factors needed for riding a bicycle.

1.
2.
3.
4.

Growth & Development
Development & Aptitude
Maturity & Learning
Growth & Interest
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16.

As per this theory a person who can repair a motor car can also
repair a motor boat.

1.
2.
3.
4.

Theory of Generalization
Theory of Identical elements
Theory of Ideals

Theory of Transposition
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A condition which sustains the attention of a person for a long

time is called

1. Attitude
2. Memory
3. Aptitude
4, Interest
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Which is not the characteristic of good learning environment.

1. Pleasant physical amenities

2. Stimulating Environment

3. Lack of good social relation among students
4, Facilities to support learning
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As per NEP — 2020 pattern of education system
NEP —2020 QI S9 QYILKIQ QIS

1 5+3+3+4
2. 3+5+3+4
3. 3+5+5+2
4 5+3+5+2

Children do bargaining at this moral stage

1. Obedience and punishment orientation
2. Good boy — girl orientation

3. Self interest orientation

4, Authority and Social order orientation
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21.

A reading disability

1.
2.
3.
4.

Dysgraphia
Dysphasia
Dyslexia
Dyscalculia
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ICT — mediated teaching learning doesn’t encourages

1.
2.
3.
4.

Learning by doing

Critical thinking

Passive Learning

Research & Evaluation Skills
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Popular ICT Platform used for collaborative learning and
document sharing in education

1. Microsoft Excel

N

Google Classroom
3. Adobe Photoshop
4. AutoCAD

JVN6Q ALRAT VG IQ° QAL TR AR QUL
6RIRd ICT Qead

1 QIRE9IALT, 968N
2. YYm QI
3. 21601Q T69IAq

4. 26TIRIQ

The condition of being unsatisfaction of motive is called
1. Conflict

2. Maladjustment
3. Anxiety
4. Frustration

QTR AQEIeR AP 62Q1 96 @E6M

1. 9Q
2. IANE)
3. QQERG

4. QeI



24,

25.

The main objective of RTE ACT - 2009

1.
2.
3.
4.

Providing free textbooks to students

Providing free and compulsory education to children
Promoting private educational institutions

Limiting access to quality education
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As per Philip Arice Childhood is

1
2.
3.
4

Natural

Parental Construct
Social Construct
Biological
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As per this perceptual law, we perceive the things that are
identical in Size, Shape, Colour as a group

1.
2.
3.
4.

Law of Continuity
Law of closure

Law of Symmetry
Law of Similarity
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Example of Experiential learning

1.

N

3.
4.

Rote learning

Learning by hearing
Learning by doing

Learning through discussions
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29.

Objectivity is more in this Method
1.
2.
3.
4,

Introspective Method
Interview

Rating scales
Experimental Method
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Persons ‘Ego’ is ruled by

1.
2.
3.
4.

Idealistic Principle
Realistic Principle
Pleasure Principle
Psychological Principle
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30.

Author of the book “The Process of Education”
1. W.B. Watson

2. Francis Galton
3. WC. Bagley
4. Jerome Bruner

“The Process of Education” ( @l 9699 &< IQIERLQ)Q emsia
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Paper- 1A
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Sarath is reading a book right now.
The above sentence is in:

1. the present perfect tense

2 the past continuous tense

3. the present continuous tense
4 the future simple tense

Choose the option that correctly describes how the present
continuous tense is formed.

1. Subject + is + past participle of verb

2 Subject + are + past participle of verb

3. Subject + auxiliary verb (is/fam/are) + verb (ing form)
4 Subject + has + verb (present participle)

Choose the grammatically correct sentence from the following.
1. Let the boy to go.

2 Let the boy go to.

3. Let the boy go.

4 Let go the boy to.



Choose the discourse marker that can be used to ask for
clarification.

1. Indeed!

2 Can you explain further?
3. Any way...

4 Firstly...

Choose the correctly punctuated sentence.

1. Have you seen my keys, phone and, wallet?
2 Have you seen my keys, phone, and wallet?
3. Have you seen my keys, phone and wallet
4 Have you seen my keys phone, and wallet?

Choose the correct sequence of the words in which they appear
in the dictionary.

A) describe B) develop C) demonstrate D) demand
B D C A

1
2.
3.
4

o o >»

B D C
D B A
C A B

One of the following is not a linker indicating addition:
1. furthermore

2 instead

3. additionally

4 moreover



68.

69.

70.

71.

Select the following sentence that is a complex sentence:

1. The sun was shining brightly, so we decided to go for a
picnic.
She wore her favourite dress, and she felt confident.

3. We stayed indoors because it was raining heavily.
Jack and Jill went up the hill to fetch a pail of water.

He will come to the party _ he finishes his work.

Choose the correct conjunction to complete the sentence.

1.

2
3.
4

SO
because
until
when

One of the following is not an example of a concrete noun:

1.

2.
3.
4

tree
joy
house
river

Choose the phrasal verb that means ‘to cause something to
happen or occur.’

1.

2
3.
4

look out for
take over
bring about
get away with



72.

73.

74.

Choose the sentence that is appropriate to use when expressing
a fact or providing information.

1.

2
3.
4

Exclamatory sentence
Declarative sentence
Imperative sentence
Interrogative sentence

“Master, is anything wrong?”” asked the Dog.

Choose the correct indirect speech for the sentence above.

1. The Dog asked his master whether someone was wrong
2. The Dog asked his master was anything wrong.

3. The Dog asked his master if anything was wrong

4 Master asked the Dog if he was wrong.

Nobody come for the party yet. We’re still waiting.

Choose the correct verb that fits the blank.

1.

2.
3.
4

IS
have
has
are



75.

76.

7.

A disease which is spread by direct contact.
Choose the one word substitute for the expression above

1. incurable
2 infectious
3. fatal

4 contagious

Choose the correctly spelt word

1. aironautocal
2 aeronautical
3. aeronatical
4 aironatical

He told me that he knocked loudly on Mr. Nath’s door that
evening.

Choose the synonym of the word ‘knocked’

1. pushed
2 pulled
3. banged
4 pounded



78.

79.

80.

81.

“But the man didn’t go, nor did he stop talking.

Choose the antonym of the word ‘go’

1. stay
2. leave
3. depart
4 move
Children’s

learning curriculum and textbook.

Choose the option that fits in the blank.

1.

2
3.
4

The expression ‘Communicative Competence’ is coined by:
1.

2.
3.
4

The following dictionary best suits at the primary level to

psychological development and interest
financial status and family background
political status and parental income.
height and weight

Harold Palmer
Swain

Hymes

Michel West

teach English.

1.

2.
3.
4

Advanced Learner’s Dictionary
Masters Dictionary

Pictorial Dictionary

Thesaurus

are taken into account while designing the



82.

83.

While teaching a lesson, audio — visual aids must be used.
1. wherever necessary

2 before announcing the topic

3. while students are making a noise

4 after giving the assignment

Read the following passage.

The mountaintop was shrouded in mist, lending an air of
mystery to the rugged landscape. Pine trees stood tall, their
branches swaying gently in the mountain breeze. A solitary
eagle soared overhead, its majestic wings outstretched as it
rode the thermals. In this lofty realm, nature reigned supreme,
untouched by the chaos of the world below.

Select the correct statement based on the passage:

1. The mountaintop was clear, with no mist obscuring the
view.

2. Palm trees lined the mountain slopes, swaying in the
breeze.

The eagle was perched on a rock, not soaring overhead.

4. Nature's beauty was marred by the presence of
pollution.



84.

85.

86.

Read the following passage.

The mountaintop was shrouded in mist, lending an air of
mystery to the rugged landscape. Pine trees stood tall, their
branches swaying gently in the mountain breeze. A solitary
eagle soared overhead, its majestic wings outstretched as it
rode the thermals. In this lofty realm, nature reigned supreme,
untouched by the chaos of the world below.

Choose the correct statement based on the passage:

1. The mountain breeze was harsh and biting.

2. The mountaintop was bustling with activity, filled with
tourists.

3. The eagle's wings were folded as it rested on a branch.

Nature remained untouched by human interference in
the lofty realm.

The following is not an ELT method.
1. The Direct Method

2. The Social Method

3. The Audio — Lingual Method
4 The Silent Way

The following breaks the ice by adding variety to the regular
activities

1. A Language game
2 Idioms and Phrases

3. Proverbs

4 Frequently used words



87.

88.

89.

90.

The player passed the ball the next player.

Change the correct option that fits the blank

1.

2.
3.
4

above off
off onto
upon to
over to

The third conditional is used to talk:

> w ™

Choose the modal verb that is used for making a deduction or

about future

about scientific facts

about habitual actions

about hypothetical past situations

expressing certainty.

1.

2.
3.
4

One of the following is not an instance where articles are

Can
Shall
Must
Would

typically omitted. Identify it.

1.

2.
3.
4

Names of feelings in general sense
Names of academic subjects
Names of villages

Names of rivers
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92.

93.

94,

Sum of the place values of 6 in the number 67426.
67426 A°SNIER 6 Q AR JGRQ 641G

1. 60000
2. 60005
3. 60006
4 60009

LCM of 2x2x3,2x3x3 is

2x2x3,2x3x3Q M.4.9).

1. 36
2. 30
3. 40
4 20

Which is the identity for the addition of rational numbers.
2 9 IR 6QANYR QR

1. 0
2. -1
3.

gl =

V100xy25=__
1. 100
2. 25
3. 50
4. 75



95.

96.

97.

A motorbike travels 220 km with 5 liters of petrol, then the
distance it covers with 3.5 liters of Petrol (in km)

@ F19Q QAR 5 M. 6U6SINER 220 @.8. Gl R6Q 6IEM
3.5 @. 6J6QINER 2l QIgI @A 9ae! (&.6.69)

1. 66

2. 154
3. 100
4 220

If the principal is Rs. 1200 then the amount to be paid at the
end of 2 years (in Rs.), at 12% p.a.

QER 12% QI 2R AREQ FRAL 6. 1200 2 QF A6Q
6J0RRQ! 69119 OFI(TIER)

1. 288
2. 1200
3. 488
4. 1488

The number of independent measurements required to
construct a quadrilateral uniquely

JAP 090R 2R FRQI AN AR 629 IEF I |
4

=

> N

5
6
3



98. A triangle with measures of 90°, 60°, 30° is a
1. Right angle Triangle
2. Obtuse angle Triangle
3. Acute angle Triangle
4, Reflex angle Triangle

90°, 60°, 30° ¢lId QY GRET

.|—l

ACERIEN GRS
2.  IR6ERId Gpe

3. 9960141 G

W

doaerldl Goe

99.  Area of rectangle whose sides are 5x and (x + 1)
5x IQ° (x + 1) QI8 Q9K YGRS 6AQTR

1 5x* +5x
2 5X +5x
3. 5x* —5x
4

5x2

100. 1 hour and 120 seconds in minutes

1 Q41 120 626@4q JRF6Q 9RRRR F6m

1. 65
2. 62
3. 72
4 60



101. Standard form of 31860000000
31860000000 K°GMIQ glﬂlaﬁ? Qd
1 3.186x10"
2 3.186x107"°
3. 318.6x10"
4 318.6x107"°

102. a’-b’ isequal to

a’—b* QAR AAIR RIS
1. (a+b)?
2 (a—b)
3. (a-b)(a+h)
4

(x+a)(a+hb)

103. Raju’s age is ‘y’ years. His son’s age is half of the Raju’s age.
Then his son’s age is

QAR QA ‘v’ @F | OI'F YR 99D AYE WA AR |
626/ OIF gaIa 99

1. 2y
2, y

2
3. y+2
4, y—2



104. Value of x(x-3)+2 atx=1
X=1696m x(x-3)+2 Q¢m4

1.1
2. 2
3. 1
4 0
105, 07,18 ,
132 "132
1, 100
132
. 15
132
3 18
132
. B
132

106. Each bag has 475 kilo grams of sugar. Quantity of Sugar in 16
bags is (in kilograms)

ge QuUIgka 475 @.91. OF Q6L | 606R 16 T QUIGER
Q@RI GF (GG IAER)
1. 500

20000

2
3. 7600
4 9000



107. Half the product of its diagonals of a Quadrilateral represents
1. Area of cube
2. Area of trapezium
3. Area of Circle
4, Area of Rhombus

PPRNA FEYPRR JITRR AR 12IQ JOIN
1L A999Q 699TR

2. QOGN 6QQTR

3.  Q8Q 699UR

4. Q7R 6IeTR

108. Probability of getting an ace card from a well shuffled deck of
52 playing cards?

Mm@l 6Jdl dIm oI O 52 G el auQ 99

dIRQl ALIMG!
1 1
52
s 1
4
;3 1
13
s 1
2



1009.

110.

111.

A cricketer scores the following runs in eight innings, then the
Range of the data is

58, 76, 40, 35, 46, 45, 10, 100
@68 6T 6HIRIRT 0T ARG KRl 9] F¢ IR
QES | G QRI°FQ QUIg

58, 76, 40, 35, 46, 45, 10, 100

1. 60
2. 10
3. 100
4 90

Ratio of 5m to 10 km
5 6Q 98° 10 S6AIFTAR QIR

1. 1:2

2. 5:10
3. 1:2000
4 2 :1000

If P is principal, R is rate of interest and N is time period, then
the formula for the total amount when interest is compounded
annually.

AQ P CIRAQ, R Qo 919 Q° N Leld) 696, Qde 9@@5‘

°Q6Q AR PIa 986
PNR
100

2. (P +%)N

3. P (1 +L)N

100

4. P (1 + %)ZN

1.



112. Which is True

113.

1.

N

3.
4.

All squares are rhombuses and also rectangles.
All rectangles are squares

All kites are rhombuses

All squares are not parallelograms

Q9 FIQ 690G AN

1.

2.

ARG QEI6TE QR 9S° 2IAREIG 2U6E' |
QA 2IYREVG 968 2U6E |
AL GG Qg 26T |

ACY QGI6RQ, AIFIBAR 689 6%

Which is not an improper fraction

Q¢ IQ 2P0 VAT g6

1.

1
11
1
8
8

11
13

11



114. Leela is Radha’s younger sister. Leela is 1% years younger

115.

than Radha. If Radha’s age is ‘p’ then the Leela’s age (in
years)

AR QUIQ AR ARG, RIR! QI OIQ 1% Q¥ QIR | IR
QQd ‘p’ 6T6A NRIQ FAA(YTEQ)

1. P+§
2
2. P+1
3. P-3
4, p-3
2

The book written by ancient mathematician
Mahaveeracharyulu

1. Leelavathi Ganitham

2. Ganitha Vahini

3. Ganitha Chandrika

4 Ganitha Sarasamgraham

gIo1e 98ieR ARINIQISIdIE FIQl Q50 9ad
L QLS 9o

2. Q&0 QTR

3. Q8o oGl

4. 980 AAGL



116. The value developed in a student by doing Puzzles, Sudoku,
Riddles and Magic square is

1. Disciplinary value
2 Utilitarian value

3. Cultural value

4 Entertainment value

ARMQ, I691q, AR, 6716R 6AIUQ AT FAR FIQ
JQIIeE AIER 8 (aie a0 adald

1L gEae gnisal
2. QUSRS R
3. AT Rieal

4. Cl1ERIANSR (IMICAI

117. A teacher uses role play method to teach mathematics in his
class. His aim is

1. Projecting ideas

2 Keeping children busy
3. Maintain Discipline

4 Entertaining children

Féie FRIRNREQ 64! TR, 65411 JL6Q EAINEY, JSIIP1
QLR REM 6969 ClE REXA

L 3Rl fIge @Gl
2. ARG QYL @<l
3. el QA @QQ!

4. JRIG F6RIQGR QAR



118.

119.

A tool helps the teacher in the classroom, to teach the abstract
concepts of mathematics is

1. Play material

2. Study material

3. Teaching Aids

4, Notes

ASG6R AR UIRIYRR IR AIR 69461 260 TG
ALY KRR ARIF

1. 919 Aag!
2 2RIGE AIAGT
3. JQIR0ed
4 62199

“In preparing Mathematics curriculum, we should give the
priority to the student’s needs, interests and abilities.’’
According to the principles of the construction of curriculum,
this statement belongs to which value of the following

1. Disciplinary value

2 Cultural value

3. Utilitarian value

4 Principle of child centeredness

“GI8e QI0IF AERIER FVILIR 2R, 2IgL, AITENG
JQQ 6QQl QEEG I”” AIOIFT QORI FHE1 AQAICA N QET
37 699 MICRIIY FOIN

SR IMISI

ArYER IR

IQLIAR FJMIESI

SgeaLe 16

O



120. The Evaluation based approach in writing lesson plan was
proposed by

1. D.S. Kothari

2. Herbart
3. Benjamin Blooms
4, Morrison

RuILe RIAG AI0Y 6KIRRIQ AERIq JGUIRe @Qgal

e

1. D.S.62l101Q1
2.  2Ql¢

3. 69&A] QA
4 6€110QAR

121. The jelly like substance between nucleus and the cell

membrane is

1. nucleoplasm

2. cytoplasm

3. protoplasm

4. Endoplasmic reticulum

& 38 6RITTR! ARG 2QEE QAR TGl
1. NI

2 RV TR

3. 2999

4 238J0d QMm@



122. Goiter is a disease associated with
1. Adrenal gland
2. Pituitary gland
3. Thyroid gland
4, Pancreas

ARAE QAR 6AUG 2l AL RGP

1L 29ee 92

2. Q198 9@
3. GegR
4. NS

123. If the force is applied on the objects in the direction of its
motion, the speed

1. increases
2. decreases
3. remains same
4, becomes zero

AT QYR ORG QI6Q AR YEAS @A, @LTA 694
1. Q8 daKg
2. QA

3. 90Qe9 99QI@

4. g4 g9



124.

125.

The plan to save the Ganga river, called the ‘Ganga action
plan’ was launched in the year

1. 1965
2. 1975
3. 1985
4. 1995

AFIRG1G AR RRQ AREH 'IF QY CAFA YA
RAULIRYS! 9

1. 1965
2. 1975
3. 1985
4. 1995

The process by which heat is transformed from hotter end to
colder end in solids is

1. combustion

2. convection

3. conduction

4. radigtion

Q0@ dAER Qald, el JI8Q 2l dI8g HSAC A9
Jélim1

1. QLR

2 QAT IR
3. QAY 9L
4 QRN IR



126. The vascular tissues that transport substances in plants

1. xylem, phloem

2. xylem, plasma

3. phloem, root hairs
4, root hairs, xylem

ARR6R ULIEgRq IR KQEQl A°QIER1 TY
1. GIReme, 65ae

2. GIRERE, gl

3. 69N, Resie

4. CIRGemie], Flmeme]

127. A freely suspended bar magnet always comes to rest in the
direction of

1. North - South
2. East - West
3. East - South
4. West - North

20I6Q R QEPIR ARG 1@ Q96Q JQIF G

L. 20-9F¢
2. g<-a8fq
3. g<9-9fd

4.  Q89-9@9



128. Natural calamities, poverty, unemployment are basic reasons
for

1. Agriculture
2. Education

3. Migration

4, Production

J9oe Qadie, QIRGY, 69RIQ1 AAA JEE IR g
RS

L. 3

2. &l

3. QAIQQ

4. QQQQ

129. Skull, rib cage, back bone are the main parts of

1. Digestive system
2. Respiratory system
3. Nervous system

4. Skeletal system
gIgQ, @ J8QIE, 679G ¥E AR SN QIS 2SS

1. JRAIe QIR
2. €99 Qe
3. Qg QYR

4. 219 @aIe QR



130. My mother has a brother whose daughter is Sanjana. Sanjana
1s my mother’s

1. sister

2. aunt

3. daughter
4, niece

60110 Fie QIR T2 6928 A2 | AR 601Q e

L. Qg
2. deq!
3. @

4. Q&S

131. The primary means of transport in desert

1. sledge

2. camel

3. boat

4, rope way

CIQ 2FREQ O JRRER AT

L 698%
2. 3%
3. A%

4.  6QI9 69



132. “If you land on a snake, do not frown. In this game, you go up
and down”. Name this game.

1.
2.
3.
4.

ludo

chess

snake and ladder
carroms

‘9661 AT FRTEa A2EER, A AR AT | IF 69R6Q QARG
JIR2URQ 8 00 BRIRIRQ' | I& 6HRTQ Q¢

1.

2.

Q63!
ACQS
AINAG 69R

QUI6aE

133. This is a renewable resource

1.

2.
3.
4.

Coal

Petroleum
Natural Gas
Solar Energy

L 9@ @M@ 6410 KEm

1.

2
3.
4

6l
6U6QImAE
gdIQoe ouIq
6dIQ9@



134. The country that celebrates Christmas in summer is

1. Australia

2. America

3. France

4. China

JIFRGER Y1V A ARR REQ 624
1. geamell

2. 21601

3. qIQ

4 QIR

135. Devagiri was the capital city of

1. Hoyasalas

2. Yadavas

3. Pandyas

4. Cholas

6QR0Q YRR ARUIFT @R Rl
1. 6LIQlmI

2 dIQQ
3. diey
4 6ol



136. Every person has a fundamental right to be defended himself

137.

by a lawyer as per this article

1. Article-23
2. Article-22
3. Article-24
4, Article-28

@ 2Q6Re AQUIN Q68 QUT O Banw A e
QIARAR! JIAFR SRINIQ JEAUIR IR QLT

1. 2Q6Re 23

2. 2AQ6ERD 22

3. AQ6RQ 24

4.  2AQ6RL 28

The most common way to purify water is

1. Cooling
2. Freezing
3. Melting
4. Boiling

PR FEARIA FAR 2G ARIAS JSIRT
1. AORIRQE

2. ARIeed
3. 9QIeed
4. 9ORIRQd



138. He proposed ‘objective resolution’ in the inaugural session of
constituent assembly
1. Jawaharlal Nehru
2. B.R. Ambedkar
3. Sardar Vallabhbhai Patel
4, H.C. Mukharjee

AARJIR ARIQ JIRAR SRJERIRER ‘ALY IR JLUITGS

QRN QYT

1. SITIQRIA 62629
2.  B.R. 26q00Q

3. 4910 ORAIA A6TR
4. H.C. gdIg1

139. Bheemunipatnam municipality was established in this year
Q1RGN JRAARG QTG 62IReR! 9F

1. 1881
2. 1871
3. 1891
4 1861

140. This is not a common method to conserve land resources
1. Afforestation

2. Land reclamation

3. Use of Chemical fertilizers

4. Checks on over grazing

QAP QYR AQQR @ 6LC ARG
1. NN

2 ? QEQE]
3. QAALER AR IRIQ
4 2o QI RUEQ IO NAlIQQ]



141. Akbar built ‘Ibadat Khana’ for

1. Rest

2. Military training

3. Minting

4, Worship

2R 'ARNGQ HGI' 9 AR Bl *RJeR
1. Qg€

2. QAR Q4

3. 9998

4. glEal

142. “Bigha” means
1. A unit of measurement of land

2. A unit of measurement of labour

3. A unit of measurement of revenue
4, A unit of measurement of crops
‘D

Al RGem
1 @ QlIIRAEQ YRR
2 g7 ARSI IR
3. Q9 AIIRdQ QR
4 TAR ARSI YRR

143. The first Indian female Doctor was
1. Kadambini Ganguli

2. Bachendripaul
3. Anandibai Joshi
4, Savithribai phule

QAR JAF AER QB
1L QIQAa1 qigm!

2. Q6eL1dIM

3. QRIQIR 6QIS1

4.  QARIRIN FeM



144, ldentify the mis matched pair
1. Prakasam Barrage - River Krishna

Dowleswaram Barrage -  River Godavari
Somasila Project - River Penna
Nagarjuna Sagar - River Kaveri

@ 621R 229 6QIGE 526 @Q
RN QUIERR, - QB A1
AUIERYQ UIEAR - 6TININ FA1
6QITFIR IRE- 692 FQ1
QAIFR AR -R6IQT FG1

!"9’!"-"‘0)#90!\3

145. In the present formative assessment weightage table 40% of
marks are allotted to

1. participation and responses of children
2. written work of children

3. project works

4. slip test

QEAIG JORIAR JRIILE QAR ARETER 40% AINFLR 12
IR LR ARG |

1. J1ee 26 ged N goqal

2. dglee Ade QIdy
3. geg Iy

4. Qg ol



146.

147.

Teaching and learning should be
school centric
teacher centric
student centric
class centric

1.
2.
3.
4.
AR Q° IS & JRIQ QG 2GS
1 QIR 6DGR

2 VR 6RGR

3. 9101 6a59

4 65611 6RGR

“Science is a quantity of knowledge which makes us learn
how we should be.” This definition was given by

1. Albert Einstein

2. A.W. Green

3. Carl Pearson

4. Robert Mach Arthur

“QRIQ 62R8 Qg AN |IF QIQI AIAQ FIQ 6291 AGS
Q1Ql FGQI6R ARIYY F6Q " 691N A°RI JUF KGJ6M

1. 2RQIC IRe]iag

2. @9 9]

3. Q¢ dadq

4. Q@9 69R 218



148. “Social Science is the study of the Inter Relationship of
Historical, Geographical and social subjects’ defined by

1. J.V. Michaels

2. James Hemmings
3. Kothari Commission
4, National Educational Council

3621de, 6el6aIne 6 AT FIAQ 2B AHRQ 2UAR @
ANFR SRIF 6QIM LIS FIQ AR G IRM

1. JV. {6

2. 65¢ 6adwrq

3. 621011 @daQ

4 RI10 698 VL

149. Identify the false statement regarding ‘Dramatisation’

1. Role players should be chosen carefully

2. The classroom should be considered as a stage
3. The script should be prepared in advance

4. The teacher should control the performance

ASRRAE AAR6Q el AET 526 @)

1 ARCAVIAIRG 9@ A2 PUR KA AR

2. 6441929 QIS QU6 F6Q0RI KQQI ALY
3. RHTQ 9og 996 K02al 2R

4.  gdadq J9e Fuad @Rl AR



150. The total marks allotted to project work in the Formative
Assessment is

1. 10 marks
2. 15 marks
3. 5 marks
4, 20 marks
SJORIAR PRA6Q 998 @IJY AR ASES AIP
1. 10 Q19
15 Qe

2
3. 5 Qe
4 20 Sl



